Локатор

~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~

Личный код: не указано

Фамилия: Миронова

Имя: Ирина

Пол: F

Возраст: 18

Дата работы: 16.02.2007 12:14

Время работы общее: 2888 с. (48 м. 08 с.)

Время работы чистое: 2888 с. (48 м. 08 с.)

Отчет о работе:

Тип эксперимента                  N  time  P(S)  Hit  FA  CR  Miss   P(H) P(FA)   Итог  Tр,мс   d`

Тренировочная серия   P(S)=0.5   10   110   0,5    0   0   5     5   0,00  0,00             0  0,0

Тренировочная серия   P(S)=0.5   10   110   0,5    3   0   5     2   0,60  0,00           541  2,6

Тренировочная серия   P(S)=0.5   10    90   0,5    4   1   4     1   0,80  0,20           425  1,7

Тренировочная серия   P(S)=0.5   10    90   0,5    5   0   5     0   1,00  0,00           393  4,9

Тренировочная серия   P(S)=0.5   10    70   0,5    5   3   2     0   1,00  0,60           353  2,3

Тренировочная серия   P(S)=0.5   10    70   0,5    5   1   4     0   1,00  0,20           415  3,4

Тренировочная серия   P(S)=0.5   10    70   0,5    3   2   3     2   0,60  0,40           494  0,5

Тренировочная серия   P(S)=0.5   10    90   0,5    5   1   4     0   1,00  0,20           449  3,4

Тренировочная серия   P(S)=0.5   10    70   0,5    5   3   2     0   1,00  0,60           164  2,3

Тренировочная серия   P(S)=0.5   10    70   0,5    5   3   2     0   1,00  0,60           403  2,3

Тренировочная серия   P(S)=0.5   10    70   0,5    5   3   2     0   1,00  0,60           312  2,3

Тренировочная серия   P(S)=0.5   10    90   0,5    4   3   2     1   0,80  0,60           492  0,6

Тренировочная серия   P(S)=0.5   10    90   0,5    5   3   2     0   1,00  0,60           375  2,3

Тренировочная серия   P(S)=0.5   10    90   0,5    5   2   3     0   1,00  0,40           398  2,8

Тренировочная серия   P(S)=0.5   10    70   0,5    3   4   1     2   0,60  0,80           552 -0,6

Тренировочная серия   P(S)=0.5   10    70   0,5    4   2   3     1   0,80  0,40           371  1,1

Тренировочная серия   P(S)=0.5   10    70   0,5    5   3   2     0   1,00  0,60           375  2,3

Тренировочная серия   P(S)=0.5   10    70   0,5    3   4   1     2   0,60  0,80           416 -0,6

Тренировочная серия   P(S)=0.5   10    70   0,5    2   4   1     3   0,40  0,80           382 -1,1

Тренировочная серия   P(S)=0.5   10    70   0,5    5   1   4     0   1,00  0,20           340  3,4

Тренировочная серия   P(S)=0.5   10    70   0,5    4   3   2     1   0,80  0,60           328  0,6

Тренировочная серия   P(S)=0.5   10    70   0,5    3   3   2     2   0,60  0,60           301  0,0

Тренировочная серия   P(S)=0.5   10    70   0,5    4   3   2     1   0,80  0,60           320  0,6

Тренировочная серия   P(S)=0.5   10    70   0,5    3   2   3     2   0,60  0,40           453  0,5

Тренировочная серия   P(S)=0.5   10    50   0,5    4   2   3     1   0,80  0,40           312  1,1

Тренировочная серия   P(S)=0.5   10    50   0,5    4   4   1     1   0,80  0,80           476  0,0

Тренировочная серия   P(S)=0.5   10    50   0,5    4   1   4     1   0,80  0,20           316  1,7

Тренировочная серия   P(S)=0.5  140    50   0,5   48  23  47    22   0,69  0,33           371  0,9

Оценка: 5

-----------------------------------------------------------------

Локатор
~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~

Личный код: не указано
Фамилия: Миронова
Имя: Ирина
Пол: F

Возраст: 18

Дата работы: 02.03.2007 09:50

Время работы общее: 9895 с. (2 ч. 44 м. 55 с.)

Время работы чистое: 9895 с. (2 ч. 44 м. 55 с.)

Отчет о работе:

Тип эксперимента                  N  time  P(S)  Hit  FA  CR  Miss   P(H) P(FA)   Итог  Tр,мс   d`

Тренировочная серия   P(S)=0.5   10    50   0,5    2   4   1     3   0,40  0,80           359 -1,1

Тренировочная серия   P(S)=0.5  140    50   0,5   50  31  39    20   0,71  0,44           324  0,7

Тренировочная серия   P(S)=0.5  140    50   0,5   46  23  47    24   0,66  0,33           373  0,8

Тренировочная серия   P(S)=0.5  140    50   0,5   54  24  46    16   0,77  0,34           363  1,1

Априорная вероятность P(S)=0.1  200    50   0,1   15  22 158     5   0,75  0,12           457  1,8

Априорная вероятность P(S)=0.3  140    50   0,3   32  16  82    10   0,76  0,16           424  1,7

Априорная вероятность P(S)=0.5   80    50   0,5   36  12  28     4   0,90  0,30           378  1,8

Априорная вероятность P(S)=0.7  140    50   0,7   87  18  24    11   0,89  0,43           354  1,4

Априорная вероятность P(S)=0.9  200    50   0,9  171  15   5     9   0,95  0,75           339  1,0

Априорная вероятность P(S)=0.9  200    50   0,9  159  17   3    21   0,88  0,85           371  0,1

Априорная вероятность P(S)=0.7  140    50   0,7   90  22  20     8   0,92  0,52           403  1,4

Априорная вероятность P(S)=0.5   80    50   0,5   34  19  21     6   0,85  0,48           387  1,1

Априорная вероятность P(S)=0.3  140    50   0,3   33  19  79     9   0,79  0,19           408  1,7

Априорная вероятность P(S)=0.1  200    50   0,1   13  14 166     7   0,65  0,08           469  1,8

Оценка: 5

-----------------------------------------------------------------

